Succession - Station 6

Succession doesn'’t
1. Where does succession begin in this only occur on land. E E
example? What organisms inhabit this Scan the QR code "

initial communitye SRS el 10 o
how succession

can occur even in E;I' - i

2. How do the original sediments arrive¢
wetlands.

What organisms will now grow first?

3. Summarize the next 3 progressions in this
example of ecological succession.

4. Describe some of the organisms present in
the climax community.

5. What type of succession could this be the
result ofe Explain your reasoning.

If the QR doesn’t work or you need the direct link
hittp://www.counirysideinfo.co.uk/successn/hydro.htm
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